ZFCFREY—7 (F$GC)

[A]
HENE BRE) |mEsrY (ZH) | REETE (K9 BB JEfL
MRME (ERE) 1-2 0-2 0-2 3
BEHHHY (BiE) 2-1 0-2 1-1 2
RHATE (K9D) 2-0 2-0 2-0 1
(B]
BHEER (k%) [IAB4E (BR) |BRER k9 ) IEfL
FHERX (E8) 2-1 0-2 1-1 2
NEYE (EE) 1-2 0-2 0-2 3
BRIRRE (KD) 2-0 2-0 2-0 1
[(C]
ERINE (BBA) [ROEH GBRE) | KAHE(ZE) B B IEfL
EERIRE (BBE) 2-0 1-2 1-1 2
ROEH &) 0-2 0-2 0-2 3
KAHE(E ) 2-1 2-0 2-0 1
[D]
BABE (BH) |HEB0E (X9 |MEMTFRE GBR) |#Rz<3 ) B B Y
B2ABE (B 0-2 0-2 0-2 0-3 4
M E (KD) 2-0 0-2 2-0 2-1 2
FIEMFR (BRE) 2-0 2-0 2-0 3-0 1
HRZZA (X&) 2-0 0-2 0-2 1-2 3




